
EXERCISE - 1 

Q.1  How many times a proton is heavier than an 
electron ? 

Q.2  Who was the first to discover neutrons ? 

Q.3  The atomic number of oxygen and sulphur 
are 8 and 16 respectively. What will be the 
number of electrons in these ? 

Q.4  An element may be represented as X40
18 . Find 

the number of electrons, protons and neutrons 
in this atom. Give its electronic configuration. 

Q.5  Out of O-16 and O-18 isotopes, which has 
more number of neutrons ? 

Q.6  The mass number and atomic number of an 
element is 23 and 11respectively. What is the 
number of nucleons present in it ? 

Q.7  An element has atomic number 19 and mass 
number 39. How many electrons and protons 
are present in its unipositive ion ? 

Q.8  Give the nuclear composition of O18
8 . 

Q.9  Who determined the charge of the electron 
for the first time ? 

Q.10 What is the nature of charge on cathode rays 
? 

Q.11 Which of the two has larger mass : electron or 
proton ?  

Q.12 What is the approximate ratio of mass of 
proton and electron ? 

Q.13 Give one property in which cathode rays and 
anode rays differ. 

Q.14 Are electrons present in all matter ? 

Q.15 The nucleus of an element contains 17 
protons and 18 neutrons. What is its mass 
number and atomic number ? 

(About 16–25 words) 

Q.16 What are the characteristic features of 
thomson’s model of atom ? 

Q.17 Give four properties of cathode rays. 

Q.18 Write the Bohr Bury scheme to fill the electrons 
in various energy levels of an atom. Using these 
rules, write the electronic arrangement of the 
elements having atomic numbers 6, 11, 15  
and 18. 

Q.19 What are the main postulates of Bohr’s 
atomic theory ? 

Q.20 What are the maximum number of electrons 
that can be present in the K, L and M shells ? 

Q.21 What do you understand by atomic number 
and mass number ? 

Q.22 Write electronic configuration for the 
following elements: 

Ar,Cl,Si,O 40
18

35
17

28
14

16
8

Q.23 What are isotopes ? Write three isotopes of 
hydrogen. 

Q.24 Isotopes have the same chemical properties 
but different physical properties. Explain. 

Q.25 Name the elements which have the following 
electronic configuration : 

(i) 2, 6  (ii) 2, 7  (iii) 2, 8, 1 

(iv) 2, 8, 7 (v) 2, 8 

Which of these is chemically inert ? 



EXERCISE - 2 

(More than 60–70 words) 

Q.1  What is Thomson’s model of atom ? Why 
was it rejected ? 

Q.2  Why is the atom neutral whereas it contains 
charged particles ? 

Q.3  Explain why atomic masses of most of the 
elements are fractional  

Q.4  Elemental boron is 20.0% B–10 and 80% 
B–11. Calculate the atomic mass of boron.  

Q.5  Hydrogen has three isotopes written as 
H,H 2

1
1
1 : H3

1   and . Explain why : 
(i)  These isotopes have almost identical 

chemical properties 
(ii)  They are electrically neutral.  

Q.6  Who discovered the presence of electrons in 
an atom ? Discuss detailed experiment 
connected with it, How is its mass and charge 
determined ?

Q.7  What observations in scattering experiment 
led Rutherford to make the following 
conclusions : 
(i) The most of the space in an atom is 

empty 
(ii) The whole mass of an atom is present in 

the centre of atom. 
(iii) Nucleus has positive charge. 

Q.8  Give important differences between : 
(i) Canal rays and cathode rays 
(ii) Atomic number and mass number 
(iii) Isotopes and isobars.  

Q.9  The following table lists mass number and atomic 
number of five elements A, B, C, D and E. 

(i) How many protons are there in an atom of B ? 
(ii) How many neutrons are there in an atom of A ? 
(iii) How many electrons are there in an atom of E ? 
(iv) How many nucleons are there in an atom of D ? 
(v) Which atoms are isotopes of the same element ? 

Q.10 Compare an electron and a proton in respect 
of mass and charge. 

Q.11 The subatomic particle not present in a 
hydrogen atom is .................... 

Q.12 The number of protons in the nucleus of an 
atom is called its ..................... 

Q.13 The total number of protons and neutrons in 
the nucleus of an atom is called its 
................... 

Q.14 An atom has atomic mass number 23 and 
atomic number 11. The atom has ............... 
electrons. 

Q.15 An atom of an element has 11 protons, 11 
electrons and 12 neutrons. The atomic mass 
of the atom is ................... 

Q.16 Electrons are present in all matter and carry 
negative charge.  

Q.17 In Na+ number of electrons are more than the 
number of protons. 

Q.18 The number of neutrons in the atoms of an 
element is equal to its atomic number.

Q.19 Isotopes of an element differ in the number of 
neutrons.

Q.20 Element having electronic arrangement 2, 7 is 
fluorine. 

Q.21 Matter is electrical and negative in nature.

Q.22 Mass of electron is about 1840 times that of 
proton. 

Q.23 Neutrons were discovered by Henry 
Becquerel.



ANSWER KEY

EXERCISE-1
A. Very Short Type Answer  

1. 1840 times 2. James chadwick 3. 8 and 16

4. C = 18, P = 18, n = 22, electronic configuration = 2, 8,8, 5. O–18 6. 23

7. p = 19, e = 18 8. p = 8, n = 10 9. R.A. millikan

10. Negative 11. Proton 12. 1840 : 1

13. Cathode rays are negatively charged while anode rays are positively charged 14. Yes

15. Mass number = 35, Atomic number = 17

EXERCISE-2 
11. Neutron 12. Atomic number 13. Mass number 14. 11

15. 23 16. True 17. False 18.False

19. True 20. True 21. True 22. True

23. False


